SITEID : TIUT-TJU (School of Computer and Communication Engineering, Tianjin University of Technology, submission ID: 10)
Experiment ID : TJUT-TJU_2011_retroED_EVAL11_ENG_s-camera_c-VCUBE_6
Events Processed : CellToEar, Embrace, ObjectPut, PeopleMeet, PeopleSplitUp, PersonRuns, Pointing

Scoring Parameters|Duration|Cost False Alarm|Cost Miss|Rate of Target| BETA
Value| 54890 1 10 0.005
| Inputs | Actual Decision DCR Analysis Minimum DCR Analysis
#Targ|#NTarg| #Sys [#CorDet|#Cor!Det| #FA |#Miss| RFA |[PMiss| DCR || P€¢ | RFA ||PMiss| DCR || Dec:
Tresh Thresh
| CellToEar | 194 5295/ 5336 41| 0| 5295]| 153[347.2764/[0.7887][2.5250([0.7500[0.0656/[1.0000([1.0003][ 0.9936]
Embrace | 175] 10671][10809] 138 0[[10671]]  37]699.8652/[0.2114][3.7108[[0.7500][0.0656/[0.9943[[0.9946]| 0.9984|
ObjectPut 621  5080| 5193 113 0l 5080| 508][333.1754][0.8180][2.4839/[0.7500](0.0656][1.0000|[1.0003|[ 0.9827
| PeopleMeet | 449/ 1067810932 254 0/[10678|  195[700.3243(0.4343)(3.9359]/0.7500|[2.0987//0.9688/0.9793| 0.9923
[PeopleSplitUp|| 187 5743| 5804 61| 0| 5743 126/376.6588(0.6738)[2.5571]/0.7500[2.6890/0.9840(/0.9974 0.9847|
PersonRuns | 107 11167[11250| 83| of[11167  24]732.3957]0.2243|3.8863]/0.7500]|6.8865][0.9252/[0.9597|| 0.9903]
Pointing || 1063  6470| 6807 337 0| 6470]| 726[424.3396/[0.6830/[2.8047(/0.7500][0.0656/[1.0000][1.0003]| 0.9951]
Di for TJUT-TJU_18 : TJUT-TJU_2011_retroED_EVAL11_ENG_s-canera_c-VCUBE_6
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